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103, 1demify the compound X in he
reaction CH~CH = CH, + [-.:_;«,,J-l“.‘-':,,‘I
(Cone. acidic) = X + HCOOH as
the end product

(). CHy == CH,
0
CHy~CH - CH,

OH OH
_3) CH;-CHO

(2)

(4) CH,- COOH

104. How many optical somers will be
formed by complete  ozonolysis
reaction of the following compound

t’l:h CHy COCH,
CH, = EH—~$ CH = C_,.; CH = CH,
H H
)
2 2
@ o = @
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103, CH,-CH = CH, + KMnO, (Hig-
uftfes) — X + H.COOH stfirfrany
e X 1 Fl=H 3w F w4
qgilﬁﬂﬁ:
(1) CH;—‘I-']‘—*CH;

CH;

(2) -FH_FH!

OH OH
CH, - COOH

(3)
(4)
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106. What is the final product of reaction A (AT9)
of eyclopentene with KMnQ,/H,50,, 106, KMnﬂquls:]q. % HHY
£ g £ sffEa @ A
CHO ?
(1) < :EHEI
CHO
H
f H
—= (OH
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COOH
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107. The order of rate of nitration of I_ag__
compounds (1, 11, [11) s A,
OCH, H 4 o 9

(1, 11, 111) % Arsgrento i 20 &

e

= FHR
he 0174, * ?L‘H; %H NO,
| I i

() m>1>1
) u>H=1
(3) I=1>1
(4) 1=11>11
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@ CHsOH +cr, _NaOH




&

9. Which of the  llowing oy
hydrohalogenation  reaction iy
ulmlmphiiiL addiion of HBr ghall
NOT give 2-bromo-compound

(1) CH,-CH=CH-CH,

(2) CH,-CH,-CH=CH,

(3) CHy-CH=CH,
CH,

|
CH,

110, Full name of the tollowing compound
1S
lll ,-"u- {I‘I
ChLC-C '
X
(1) 2. 2-Diphenyl-1. l-dichloro
trimethyl ethane
42) 2. 2-Bis (4-chlorophenyl)-1. |
| -trichloroethane _
(3) 11 I-Trchloro-2, 2- -_]}isH;- -"I'-*
diphenyl) ethane ; 7
(4) 4. 4-Dichloro - Lg—dlpﬂm}l -

ethane

hich of the product ?

(28)
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09, HBr & §EeATH dm gm

RS sifferan w fafafiaa

48 & E-ﬁ'mﬁﬁi e qﬂ'i &l

g’

(1) CH;—CH=CH-CH,

(2) CH,-CH;-CH=CH,

(3)) CHy=CH=LH,

CH

tll—{lﬁ‘}ﬂ—? > a4, 4-
srfse) 3

4, 4-STEIRI- 2, 2-STEfbATEe -
o
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12, What will be the
the reaction o

&
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Ch,
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(29)

112, \“ﬁl'hﬂ" EHE + B,

CH,
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W 30912 (B) 1 0 v 2

(1) CH,-cH,

| )
OH  OH

(2) K'CH,- t‘t
E 0@ - CH,

0-C-CH,
(4)
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CH, - F-ﬂ*CHI*‘CHJ

(1) CH;-CH,-C-OH+H-0-CH,
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4. The compound HO - CH - COOH s
I
H-CH- COOH
callad
(1) Malicaed () Maleicacid
(3} Suctinie actd () Tartance acid
LIS, What 18 the comect combanation of
products A and B the tfollowing
sequenve of reactions ?
O, «CH - CHONAS ) AL NOH,,
A B
(1) CH, -0 - CH, - ONa
I |
CH CH
] |
fH: CH:
'{:1 {-‘Hz" {}H ‘u‘l'{: - f‘ - (:1":-
1
CH -ONH
|
CH; -
(3) CH:~ OH CH,OH
| l
CH -Cl! CH OH
i
CH,0H éHi'QH'

.
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CHL = CH - CHLOH
A
(1) CHj~
l
I |
|
CH, é“l‘
(2) CH,~ OH CH,=C

|
CH 00 @
’iﬁ, Cl

f.‘_' 1.r

43) CHy~ OH
®

O<C) " OHs

i
CH

« CH,

CH,OH
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118. ::;l;:;:‘;g {:lfi";:jt}*liu acid with acetic 118. wHifes UARIEEISE & 6™ aferafers
» BIVes 4 product, that
lowers  body  temperature.  the e i sfifrm 3 v IR A9
structure, is B & I vl F Arqgr F FH B edl
” @Kc‘mfncu, 2, T8 a2

OH () @fﬂﬂfﬂff‘h
OH
COOCH,
(2) @ COOCH,
: o CX

OH
@['UUH
A3 0 "ﬁ e

0
COOCH,

o CX
OCOCH,

119. Reaction of o-phthaldehyde wi
sodium hydroxide (40%, aq.) wﬁl} '
give which of the following onmild | o-8fcearge #i B & frafafes

acidification ? Ké@ 'y & 1 |1 73 It 9 ST g 2
. e

CH,OH CH.OH
. o X
COOH
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120.

121,

122.

Phthalic acid can be used for
synthesis of primary amines, the
reaction used 1s known as
(1) Oxidation and ammination
reaction

(2) Schmidt reaction
(3) Hofmann degradation
(4)  Gabriel phthalamide reaction
The convenient method to convert p-
nitro-aniline (A) to 1, 4-dinitrobenzene
(B) is
W A NaNO,/HCI , ., NaNO, | o
@) A NaNO;/HC/ S

HBF,, NaNO, _

Cu, heat

@) A HNO; B
@ A L9 .p

The urdurf’m],_ ﬁ@‘ strength of the

fol Inwmg phel

* E? nlm#,nnz (';]

Y

(32)

120.

121.

122
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(1) AT 3t wittee firan
(2) fotre fomn
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@) s demrds e
P (A) # 1, 4-gTEATEgIE
(B) # wgert 1 gfewroe faft @
A Na@?ﬁHCI A NaHG;}E
(2] b Nﬂ.NDngE:' y %
HBF,, NaNO,
= B
Cu, 99
(3) A-NO, g
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Hiﬁ%:
CH;
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123, ulersfi w1 oo wufon B
OH

O
o €I

o /@,ﬂ . m80H
Br I
124. In a reaction of aniline, as shuwz!&a 124, vfEf & sfufma 4 ofi qiE A’
e : A, L 'I

coloured product *A’ formed 2

A @/” H: NaNO, th
—_ s A
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125.

] = ‘.."

126.

127,

128.

In determination  of structure o

glucose, one of the oxidation product

tormed 15

O

I

=

I

ILWWD=0 <=1

|

Il-C

I

MO

{'unﬁgul'ul‘iunu“}'. it is named as
(1)
2)
(3)
(4)

RINEN

OCH,

Xylo-trimethox y-glutaric acid
Ribo-tnimethoxy-glutaric acid

The tollowing polymers belong to
which LﬂlL,[._t.l.'lI'}’ (i

£CH; (|”+ {érﬂh {II

(1
(2)
3
(4)
Which statement 18 true 7

Glucose and galactose produce

(1} depuesl osazones
(2) _dénoifor

Thﬂrmﬂseltlnh. Ilu.nnupl astic
Elastomers, thermoplastic
Thermoplastic, thermosetting
Fiber, thermosetting

J.'iﬁﬂh Hiﬂ‘.ﬁ a dimenc
supar called maltose

The namcs of below given hexoses in
the order 1, 1 and 111 are
o CHo

Helooi o ¢
TR T T e O
L M=Ca0n im-L—

=g -0n
GJi=6 ‘
| - ' 'F-II 2

2, 3, d-trimethoxy-pentandione acid

Arabino-trimethoxy-glutaric acid

Ii..’l (Y
I ﬂtt:*nll
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H
I
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128K,
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thf; melting poing of an amino
acid under the Mfluence of an
electric field
) a Specific  concentration of
amino acids in a solution, 10
torm a protein molecule,
concentration of hydrogen ions
In & medium, when amino acid
does nol move o either
direction under an electric field.

(4

130. In paper chromatography experiment,
Ninhydrin is a reagent to locate the

position of
4¥)  carbohydrates
(2) polysaccharides
(3) amino acids
(4) purine bases
131. The structure of the following

carbohydrate

(1) an aldopyranose
(2) aketohexose
(3) an a-D-glucopyranose

@y an a-D-fructofuranose

(35)

(s

129, mmﬂmﬁ%t
(1) o fafire qroum fm @ ol
ubE feed e o fedt 390
8 i Rt faan  nfepra B
W 7 |

(2) T &3 % e 4 et o
ufeE &1 e

(3) W v R F o e
oo & ufe ofirg 4 fafire

(4) & ufirR ofie faega

llllll

130. 9% 1T s A Frgrsfe faraeh
fufas %1 g v 1 vt @ 7
(1)  wmEiersdza
@) s
(3) ufir oftre
(4) =g
frafefan st fiamn @

H

CH;O H

131.

OH
H H OH

H H

H

(1) T CESMHT
(2) U R
(3) T o-DIEHITEE
(4) T o-D-FHRIEH

. qu %) e & ‘
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e |

'_rl 3 i_&--l-r-n-.



G

133. Mohr's salt is dissolved in dilute
H_,ED'.; solution, instead of distilled
water, for
(1) prevenhing catiomic hydrolysis
() ncressing reducing strength

(3) enhancing rate of dissolution of

salt

(4) increasing the rate of 1onization
of salt

134. The shape of PCI, molecule is

(1) Linecar
(2) Planar

(3) V-shaped structure
#4)  Pyramidal structure

135. Enzymes are biocatalysts, which

belong to

A¥  Polypeptides

(2) Polysacchandes

(3) Hydrocarbons contaiming @
double bonds

(4) Nitrogen containing heterocyclic
co ﬂims_.ﬂ'ds forming complex

136. Whdh ;ﬁfnnmn sweeteners
Mﬂh_ LSTIRar tﬂﬂ,iﬂd till-'ﬂdbjf
diabeuc poo; n]:.

{36)
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23, WR ®ee 9 fefes o ) 9w =

134.

135.

H,S0, fawm & frm fom dren s 2 2

(1) A FE-wya &1 O%A %
fam

(2) HIEE el w1 w9 & fee

3) SR EfEmAi iR s
fo

(4) W2 & A 6 nfa wge
=+ femg

PC/, 39 1 HTHN R
(1) t&m
(2) waE

(3) V@lﬁ»‘l% _ 1 wra
frcrfirs weemn

(4 T

A HA9-38RE B 2 faae "ey

 Fren

136.

(1) w2y

(2) difeEdseE

(3) -E97 FEY A FEEIHTE

(9) g fed wfem s
T AW retEnfEes dfts
il

Frferfiga 4 & #3 @1 dier wwr @en
8 waft & 3 S wpd R g
sufirat & gm 394 § @ a0
(“-!} m (2) At
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138 Which. or g, following is @

(37) G

138, Freaferfian & & gy weifrfacedts 309

ps}rclmlherupcmic drug ?
oy Chlorophen iramine
2) \C h]i'ﬂ'ﬂl]'l}"ﬂill

(3)  Serotonin

(4) Hun:lhindmnc

139, Thﬂ, elements whict, oceupy  their
Posilions in Periodic Table just after
the member of zero group are |

H)  halogens

(2) gases

(3) radicactuive

(4) alkali metals

140. The hybndization of berrylium in
solid berrylium chloride is
) sp

(2) sp?
3) sp
(4) dsp?

141. Methane, water and amnionia contaj
the same number of eleetrons.

(2)Sllg < 11
) MMi<i<ll

@ li<li<1i

89

() F= o o

(2)  FE RS

(3) BlRIfR

(4)  Arufage .
139, 31a wroof 3 vy a3 ek 4G A

mﬁﬂﬁg:

(1) &erem
(2)
(3)

{(4)

(1 I=<li<1i
(2) l<i<In
(3) m=i<lM
(4) n<m=<li

L]
142 Refior % FEH FUA 5 %9 R
(1) Br>F>CI>1
2) F>Cl>Br>1
(3) CI>F>Br>1
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143. The impunties present in the
minerals are called
(1) flux
42) gangue
(3) alloy
(4) slag
144. Carbon monoxide reduction process
1s used for the extraction of
(1) Cn
(2) Ag
(¥ Fe
(4) Sn
145. The correct order of atomic radii 1s
(1) Na<Be<B
2f F<0r<N
(3) Na<Li<k
(4) Fe'* <Fe** <Fe"

146. In which of the following reactions
does hvdrogen act as an oxidizing

(38)

I'i.r

CHEMISTRY

143. @A A 9T 97 areh srfedl  Fwd
2

(1) TTE®
(2) I
(3) fomg
(4) M
144, FEA THEIFEEE Wyawq 9 &
mmmmmmﬂm
#-‘r
(1) Cu
(2) Ag
(3) Fe
4) Sn
D, N
= u
\45. T Bt et w2
. -'.‘,? ‘Na<Be<B
M) F <0 <N*

s (3) Na<Li<K
(4) Fe'' <Fe’* <Fe''

146. Frafefiges & & fem wfilem o
TR Th AEERE il &
T8 s w@ R

(1) H,+F,—
(2) H,+SiCl;—
(3) CuO+H,—
(4) Na+H,—>

147, syfrg ureas #, H,0,, Fe' athn
am-—maﬁﬂmﬁﬂmt

.:"'i' .
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(39) e
148. ::::“ih :'rf the hﬂlummg chlorides 15 148. ﬁ":lfhfha 5 g 3w @
alent ? 'H'ﬂnﬁrﬁ;
A4 BaCy, (1) Bcftm%"}
3 a
(2) Nacy (2) "iaf‘:
(3) E"af‘fl (3) !::a{:'a’
(4) BL‘['J’_] (4) BeC/
149. Which of the following metals does 149. Feifefen 4 3 &R @ a1g
not form ionic hydride 7
(I) Ba
£2) Mg
(3) Ca
(4) Sr

150. To obtain chromium from chromium
oxide (Cr,0,) the method used is
(1) carbon reduction
(2) carbon monoxide reduction
(3) aluminothermic process
A4y electrolytic reduction

151. Among the following h}rﬂrﬁ;@ﬁ:ﬂm y
one which has lowest v nf-&,i, at

ordinary tf:m perature is ‘3-L-.‘-_=f

) ' (1) Be(OH),

(2) (2) ME{GH);.:
(3) Ca(OH),

(4) Ba(OH),

152. B 9 8 91 w1 A e afisfe

(4) Bd{DH}I

152. Which of the following represents

increasing order of ionic radii of the H1 Fmf B & w5 w5 9 i
following species 7 27
0%, 8%, N> 02, 82, N>
) 0% <N><S* () OF<N><s™
L s N<gF<or (2) N> <S§*<0%*
e I I RS i

[31 N”‘“‘?}{ﬂm | (4) ST <O*<N*



183, You are

S84, Which

1ss. If

provided  the
electrode potentials

tollowing

E o e = 131V,
B 0.74 V

B eor = lodt = 133V,
E i .36V

Which of the tollowing order of
reducing power 18 correct !

(1) Mn"<Cr < ClH <Cr

() Cff <Cl <Cr,0! <MnO,
3 Mn?* < CH < Cr'* < Cr

(#) O <Cl <Mn* <Cr

one of the
arrangements  shows

following
schematic

alignment of magnetic moments of

anti-ferromagnetic substances 7

QOOOOO
iﬂ@@@@@@
@@@@@.

g face centered cubic,

body centered cubic and simple

N ,;alhin,lhmndﬂclmglhnfwm:ﬂluf

1gs in ferms of r will be

(40

154,

158§,

CHEMISTRY

|&3, sva Frafafua e fava R

i &

E i P Mgl PR3 B €

B Mo =~ 074V

B% oyd-lodv = 133V,
Bl o= L3OY

et w4 e @ fefafaa 8 @ ®19
wwd aft R
(1} Mn**<Cr'*<Cl<Cr

(2) Cr't <l - ['I..{}; : h;fu{]‘:
(3} Mn*' I 8 B Ot
4 O <Cl W < (

ﬁgﬂﬁﬂmmﬁq
agd & b

wa ko

H OOOOOO
A DOOOOO
A ODOOOO®
@ ODOOOLOO
fe G Higa v, -4 HfZa w9 afl
"Wy ue A el 6 B o R e
% ®y 1 W HHH| ® UHF e B wn

v gae: wefl
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) (41) G
156. ::!alri:ih] :ai‘ the following is not an 156. mﬂﬁﬁwwm
reaction s disproportionation 1 2T 1 &
1) CL+20H- _, i+t + H,0 (1) Ch+20H I +CF +Hy0
£ CuS+ DE, — Cu + 80, (2) CuS+ O, = Cu+ SO,

(3) (‘uzﬂ +2H* = Cu+ Cu?t + Hzﬂ
(4) .'EHCu(‘fz

() Cu0+2H* 5 oy + cutt + HLO

) 2HEWE
= dilute with H1ﬂ

Cu+Cu?* + a0f + 21"

_’
20 % |y 7
Cu+ Cut + 4C + 2H!

157. AgBr s # s amwr Ag® < <

157. In AgBr ¢ : ion size lies |
Br crystal, the ion size lies in Br % %9 4 B R | AgBr

the order Ag* < < g

The AgBr crystal should have the o) m"m‘“:‘a
following characteristics - (1) et ﬁ"q %: w,
(1)  Schottky defects only (2) Tlfﬁiﬁﬂ -

(2) perfect crystal fﬁg Wﬁq
A4)  Both Schottky and Frenkel defects A B

»
:-:‘4."‘-"-';!_”!#;' E,. E, 3 E, 17 et & %1 e.m. £

158. E, E, and E, are the e.m.f. values of r

the three galvanic cells denoted’ by
(@), (b) and (c) below

[iﬂ EH 1 .2“21 M I iéﬁﬂ{& F':H'I ICU

£ gt |1 Cu ) | Cu
Wh:ﬂg\nn the following is correct ?
(1) "B E > E,

A E,>E,>E,
(3) E;>E;>E,
(4) E{>E,>E,

159. Which of the following is ﬂnhyﬂnd:
ﬂfHNﬂg

QI) N,zﬂ

. oA 2 B AR (), (b) 3R () T

Eﬂfm‘ﬁ!ﬁ:

@) Zn|Zn* || Cu? o | Cu
(b) Zn| z"Pn wy C"z+|| my | Cu
(€ Zn|Zn* C“2+;| m) | Cu
frefafead e s madi 2 2

(1) E,>E;>E;

(2) E;>E,>E,

3) E,>E;>E,

(4) E,>E;>E,

 Prefefas § & = HNO, =
RIS © 2

() N0

(2) NO

(3) N0,
(4 N,Os
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160. A for NaCl, HCy and NaA¢ are
1264, 4259 and 91 o g

| S ¢m? mol!
respectively, A for HAc will be

390.5 S em? mol |
(2) 40558 em’ mol !
(3) 34505 cm? mol !
(4)

450.0 S ¢m?® mol !
161. In a closed container. @ equilibrium
at 500 K, the concentrations of PCI.,

PCL, and C ls

08 x 10" mol L', 12 x 10® mol
Ethand 120 % 103 mel 1
respectively. The value of K _ for the
reaction

PCI(g) = PCl (g) + Ciy(g) will be

are found

48 18x 103 L mol!
(2) 18x10°molL!
M 18x10?
(4 12x10°

162. Which of the following substance lias
the highest proton atfinity
M) H,0
(2) NH.

163. The correct order of acidity for the
acids HON, CICH,COOH, CH,COOH
and HCOOH will be

) CHEMISTRY
160. NaCl. HC/ 3R NaAc & fore A
wae: 1264, 4250 3H 91.0 S em?
mol 2 I H. \L“*ﬁ”ﬂ!n“,
(1) 390358 e¢m? mol!
(2) 40558 cm?® mol!
(3) 34508 em? mol!
(4) 450,08 em?® mol!
161, U < &30 § 500 K @naaesn §@
PCL,, PCL, 30N CL, ) wigan #991: 0.8
x 10" mol L', 1.2 x 103 mel L :
1.2 x 103 ||1|'.:||I "Tlﬂqﬁﬁ‘*]
SR PCL(g) ;ﬂﬂﬁ}“ Cly{g)
% fore K %1 wret g,
H%{m luﬂ_ﬁ'lfﬂanl '
. I8 X 10 mol 1.
38. w8 x10?
1 -.; r‘ﬂ} 2% 109
O

163,

HCN, CICH,COOH, CH,COOH 3R

HCOOH 3l & fom 3nsar &1 w#

#H Ehm

(1) CICH,COOH > HCN >
> H:._CU{}H

(2) CICH,COOH > HCOOH >

. CH, COOH > HON

HCOOH



CHEMISTRY

16d. Which one of the following is the
strongesi Oxidhsing agent !
(1 HCio

(). HCO,
(3) HCWO,
44 HCWO,

165. Of the following species, one which
IS On-existent, 13

(1) XeF,

42} XeF,
(3) XeF,

(4) XeF,

166. Equal volume of three acid solutions
of pH. 3. 4 and 5 are mixed in @
vessel. H' 1on concentration in the
mixture will be

(1) 3.7x10°M
(2) L1IxI0*M
By 37x10%Mm
@ LIIx10'M :

lﬁ‘? In the ﬂlumum-lhcnm[&"’prﬁﬁm m‘

BCls as
-—ff) an
(2) P e

(44

il
o
@ (2)

s

tod, Pt f @ war e ot
ey il B
(1) HCIO
) HCW0,
(3)  HCIO,
(1) HCIO,

168, Frerferfiun i A wha w whefo srfere
Hadi p
(1) XeF,
(2) I‘i-:l"_.-,
(1) ek,
(4) XeF,

1" atra ) wign wrf
3710 M
LI X 104 M
37 x10%M
LI x 10 M

(3)
(4)

167, Qetfiel-unige wfvm 8, A7 sl s
{
(1) et sife & w i

(2) T & Y W

(3) Hest®h s

(4) vl wde & wg

168, e 3 1 ) Preforfen 8 R R
Trer w9 1 gerh o @ 0
(1) HF>HCI> HBr > . | B



G

169. Mercury on heating
gives

(1
(2)
(3)
M

with aqua-regia

Hg(NO,),
HeCl,
Hg(NO,),
Hg,Cl,

170. Highest conductivity is exhibited by
which of the following 2

M [ColNH,)]CI,
(2) [Co(NH,).CrICl
(3) [Co(NH,),CLICI
(4) [CD{NH;}_‘C{]}

171. Which of the following noble gases

does not form any compound ?
(1) He
2%, Ne
£3) Kr
(4) Xe

172, The lanthaside eontraction is related

[} -
I W
(1) atomi [

§2) atomic as well as MY radii
(3) valence clectrons
oxidation states

(4)

high ot e Tollowing, i

(44)

CHEMISTRY
169. wﬁﬂﬁ@‘ﬂ-ﬁmﬂamﬂ T A W
el el &
(1) Hg(NO,),
(2) HgcCl,
(3) Hg(NO,),
(4) Hg,Cl,

170. F=fefaa d @ feas gm aed sifis
Tl wefdla Y s 2 0
(1) [Co(NH,),]Cl;
(2) [Co(NH,).CIICL,
(3) [Co(NH,),CL)et
(4) [Co(NH ),C,]

171 ﬁaﬁa@aﬁ%aﬂwmmﬂa EaH
it ¢ & 2 2
(1) He
(2) Ne
3) Kr
(4) Xe

172. w=aTge angeA Hatva 2
(1) ] B=na |

(2) "] % "'y MY B
#

Hato seERAl &
fadissty et §

()
4)

173, frfefgn & & foad o wae 3
Irpfia TR B e T s
Bf R

) Zn

..l: -:. Fezrl-

N i



CHEMISTRY
174. The total numbpey
& inface centereq
(1Y 6
) 8
(3) 10
4) 12

of tetrahedral voids
nit cell gy

175. The equivalent wei

| ght of phosphorous
acid, H;PD IS W

(given atomic mass of p — 31, 0=16
and H = 1)

(1) 82
@r 4l
(3) 205
@ 273

176. The number of isomers possible
for  square  planar complex
K;[PAC/Br,SCN] are

2 JIT

@ \ =

2y 3
3) 4 %
4) 6 @
Co(NH,),CL]" s
ISt in two  different
aforms. This is due to
jonization isomerism

optical isomerism

linkage isomerism «

(45)

G

174. %% $f3Za v da § Gqupedd
ffawai & e gen 2
(i) 6
(2) 8
3) 10
4) 12

. BRI 35T H PO, %1 779 WL 2
(P=31,0= 1631 H = fom ™
T e 2)
(1) 82

(2) 4]
(3) 205

—
Lad
&nwm.:

177. @$ [Co(NH,),CL)" A f= ofg
w1 B I A1 R | §6H A
(1) I agEgEd
(2) YV EHEEE
(3) SfEdra wHrEga
(4) =gl gHEFE

178. Frefriga 3 & @ e 3 2 o

. '{.]'} 501‘@“}



179. Consider the reaction

SBr(ag) + BrO,(aq) + 6H'(aq) —
3Br,(aq) + 3H,0(/)
Which of the following expressions

15 correct for the rate of regction
given above 7

|E‘.r|
At
é[_fl _5 A(HT)

At 5 At
A[Br] 5 A(H)
«ﬂ'f’ At =

0 At
A[Br] _ A(H)

At Al

() _ 3 AHY)

(2

4)

180. Arrange the following in increasing
order of covalent bond character
Lil, LiC/ and LiBr

(1) LiBr>Lil> LiC!

(2) Lil> LiBr> LiC!/

(3) LiC/> LiBr> Lil

(4) LiBr=>LiC/> Lil

181. Which of the following pairs is
isoelectronic,

(46)

179.

180,

181.

CHEMISTRY
g ot W famwt

sBr(ag) *+ BrO,(aq) + 6H (aq) —
3Bry(aq) + 3H,O(/)
sydaa R mu sififen & @t & forg
fyfaiaa # @ &5 & sifirsafen wd
{4

A[Br] 5AMY)
. ABr] o AHY)
SRR T

A[Br] 5 A(H')
3) AL 6 At

A{Br AH'
@ 22 Fre

5 Y faitwan & agd wH o
I ) safe & -
m,ucrai‘ln_uﬂr

1) LiBr>Lil > LiCl/
(2) Lil > LiBr > LiC/
(3) LiC/=LiBr> Lil
(4) LiBr> LiC/ > Lil

fFrafefiaas 4 ¥ w9 W 3w FuseE)
27
(1)
(2)
(3)
(4)

Hnj"&ﬂ(ﬂe
K' 3RO
Ne3l O
Na' 3t K’

182, Fe2*/Fe 3 Sn?'/Sn soreel & foro

RS yvEad fava wuw - 0.44 3k

B «-ﬁ.ﬂﬂﬂiiﬁq*ﬂﬁﬂm

ﬂﬁ*+5n-rf-‘=+3nz*iimm
ﬁt
b o 3
Stk 1'..‘-1[2 "E'-ﬂ"--' 2l



CHEMISTRY

183.

184.

i g} Miﬁ?:nnn"

Which of fol If.'.-mnb gaphﬁ

Mg r
Clivated (-, B eaction

lLergy

Resclants l-ll

Frodugis
Reactiom cooy dinaic —3

Adtivated Lomplex

(b)

Encres

Prowduces

Wi lmids

-
Feac s womrginae e

Activated Comples,

(c)

Encrey

Keuciams Producis
Reaction coxmidinale =

) (a)only
@) (Gonly @ SN
(3) l.’-:}Jpn;‘I}“ i
(4) {alhﬁﬂ-"}!ﬁl

Reaction N,O.(g) — 2NO,(g) +
#0,(g) is a first order reaction.
Initial  concentration of N,O, in
reaction was found 1.24 x 102 mol
L' at 318 K. The concentration of
N, O, after 60 min was 0.20 x 1072 mol

L', Rate constant of the reaction at 318

K will be (log 6.2 = 0.79)
(1) 0.0404 min'

(47)

G

183, fr=fafan § @ o o o senad
SR 1 fregm T 2
G 2ty

—

(2) F

184. FRGRT N,O48) — 2NOL(g) +
%05(g) T WYY wife sl % |
b # N0, 1 3 wign
318 K W 1.24 x 1072 mol L' ypp
T o1 | 60 e % 918 N, O, %1 gign
020 x 10 mol L' &1 | 318 K ur
Fiffra =1 an feags gm
(log 6.2 = 0.79)

(1) 0.0404 min~!
(2) 0.0303 min"!
(3)  0.0245 min
(4) 0.0289 min



G

185. If we plot a graph between Ink and = T

by Arrhenius equation_ the slope is

EII
. <5
3
@) +=

EE.
2 " 2303R

@ *33;3R

186. For a reaction A + B — C + 2D,

187. The vapou:

expenmental results were obtained
for three trals. These results are
given below :

Tnal | [A],M | [B],M | Iniual rate,
Ms!

1 0.40 | 020 |[55x 10

2 080 | 020 |55x 107

3 040 | 040 [22x 10

The correct rate law of the reaction is-

(1)
L2
)
(4!

picssure of ethanol and
Mmmlmﬂ.ﬁmd 88.7 mm Hg
Sp - An ﬂﬂﬂﬁm is

(48)

CHEMISTRY

|85, AR wiFw F yqwn IR &y

ok 3 % ¥ @ aw w@d § @
g1 (¥)

18 2

) =+

22 %1073

(1) mfa=k[A]°[B)?
(2) wifa =k[A][B}’
(3) wifa =k[A][B]
(4) =fa =k[A][B]°

87. Wt 3 AT BT ATIEE FH
#JshtsaTmHgilﬁﬁgﬂ:ﬂ'-ﬂﬁ
mmgﬂuﬁaﬁﬁmmm

wma@f&amﬂmfhmmh



(HEMISTRY (49) &
!l- Fh}'ﬁ“.-dl ﬂ‘.i"“."ll."‘l_'l[“‘“] ut a Ldﬁ‘:ﬂus 18“. m Fﬂ:ﬁa H m m‘m ﬁ
species My change 1o chemical e IDIED mﬂlﬂﬂﬂ ‘-[ﬁ-'-?l’!t 7

adsorption with

(1)  decrease n lemperature (5 4 o Bﬂ i
(2)  wmerease in lemperature (2) THH H q& E‘ﬁ b
(3) increase in surface area of (3) Hfireee & ELiD] e 4 E'IF"

adsorbent B‘r;‘? qT

{(4) decrease in surface area of sifirsire AEGA d &l

adsorbent (%) % w
#H 9
189. Which one of the following solutions

will show m.h.ltlu. deviation from 189, ﬁqﬁ?ﬁﬂ 4 d &9 | Mqﬁﬁﬂ

o8} bakaviour ? FTT R AR e eI 2

(1) Benzene-Toluene 3f ¥od ¥

(2} Chlorobenzene-B benzene ) 3 J

2 ¢ 2e romobenz win HE :

o b @) ;W-ﬂtﬂiﬁ?
__5}-] oroform-Acetone A 4B
(4) Ethanol-Acetone i‘“ » ~gie
L ) o
190. Molanity of the solution u:nnminiﬁ;'g-;. m"’f
be ' :
B R ferergm ) 7 sropman

(1Y 0.378 mgl dm™3 4 %ﬁﬁ i

2) 9 (1) 0.378 mol dm™?

{:] S %; 2) 0.278 mol dm-}

o lu-‘-;ss:‘ G (3) 0.478 mol dm~*
oS mol dam-e

49 (4) 0.158 mol dm?

191. 1.00 g of a non-electrolyte solute

dissolved in 50 g of benzene lowered 191. 50 g &fm o 1.00 g gat m__aw

the freezing pownt of benzene by 0.40 K. :

The freezing point depression ey faeta #fm & fuis #Y 040 k
_mnrhm?-emmsﬂiks_f 2 0 3N R | ;A w1 e sra
EIS By ofithe oo DelR D) TR 5.12 K kg mol ! & | R-egq

gy faeg aﬁsmt
(1) 208 gmol!
(2) 256 g mol ! .

| j{ﬁj m g mol !



CHEMISTRY
G (50)

192, Among the electrolyies Na,SO 192. Nn;,.‘-il'lat_ [*ul"f},, AJ’HIT&UH! '5?’!
i E'a{Z'f: m}[:-;r::,m:b :n: L:-mr,{i'l;.l ﬂ:.:' NH,CI Aga-saagai @ sh,S ol %
most eflective coagulaung agent for fequ watfus i atRe = rﬁﬂiﬁ ?
4 (1) NHC/
i (2) Na,50,
(2) Na,S0, @) cacl,
(3) CalCl, @) AL(SO,,
A ALSO,),
193, 7@ 1.0 g 9l %1 0 °C (AH,,, = 1.435

193. What will be enthalpy change when keal/mol) @ - L <

1.0 g of water 15 frozen at (0 °C

(AH,, = 1.435 keal/mol) ? aftada #m

(1) +79.7callg {1y +79.7cal/g S ,;_r
(2} —158.0 calig (2) | 58.0 cal/g L B
(3) -79.7 callg (1) T9.7 cal/g - .':: ‘, p

(4) + 158.0calig (4) +158.0 cal/gy uf '

- ﬁh'- ,..
194. The heat evolved on combustion of w ha (M) % zA

"L
1944250
acetylene gas (C,H,) at 25°C is FE A 310,5 keal mol ' R |
3105 keal mol'. Enthalpy of ’a g ) v v et wofy
formation of acetylene gas will be

(AH" o = ~683 keal mol !,

(AH e 68.3 keal ~mol');
| , AH ., = ~90.0 keal mol ')

AHC, nol'h |
| (1) -54.2 K mol!

(1) —sim

o B (2) +54.2k mol !

@) - A (3) - 64.2k) mol'
@) +642%0 mol! (4) +64.2 ki mol"!

195. v cafifian faet am o waa. ey
ﬁﬂﬂmmmqﬁm! |

%

i
L
R
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(96. Which of the following 1UPAC
pnames for the Eiven compound 18

correct ?
HO
s v |8 1
CH;~CH - CH - CH,- COOH
| 2
Br
(1) 3-Hydroxy-4-bromopentanoic
acid
A2} 4-Bromo-3-hydroxypentanoic
acid
(3) 2-Hydroxy-3-bromo.butan-1-
carboxylic acid

(4) Butan-1-carboxy-3-bromo-2-ol

197. The hybridisation state of each of the
carbon atoms n >

E(";l2 = ?= C‘.?l{i‘-— n‘.f“’]-*:'1 - C=CH,is
(1) spi.s.sp'.sp’, s sp!

of Sp. 5P, SpP. Sp, Sp, SP

(3) spP. spt.spt, sp.sp.sp

(4) sp.sp,sptospsp.sp

198. The major product of the following

CHy, ___':"JCHE* NaNO, .
CH.Z T | 68y ey o
NH. OH

CH .
(1) oy SC—C3

(51)

196. Ru e M ¥ g Prefafea 3 @

197.

198.

H 9 IUPACTH GBI 2
HO

|
CH, - CH - CH - CH,- COOH
ast ]

Br
(1) 3-ETeeradt-4-sm ders wiie
@) 473 EEsEE deres e

(3)  2-gTEeiEi-3-m SR 1-
Fratadifern g
(4) @?-1-@%-3-%-2-31’!3

CH,=C=CH - CH, - C =CH, @
(1)7 spPsysp!, spies, sp'

@ spdsp, sﬁz, sp’, sp. sp

(3) spt.sp.sptspl.sp, sp

(4) sp’. sp?, sp.sp’, sp.sp

RAIghmisnang@Iag? ?

G
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199. In a chemical reaction of 2
butan-l-ol  with

tollowing change oceurs. Is 1t a/an

CH, -
i I'-II|1

H--ﬁ‘ = CH;OH «~ HC! — ||-.(:~ ~=(H,- Cl

L= [ !

CsH. CH.
i~ +2-Methy Ibutan-] -0

(1Y Racemisation process
(2) Inversion of configuration
A3)  Retention of configuration

(4) No change in optical rotation

200. Addition of bromine to cis-but-2-ene
gives following two isomers, | and I,

CH;
B v

Hr
CH,

1l.

ET .."

i 4 L“"— >

2-methyl
conc. HC/, the

-+1- Chloro-2 Methy Ibutane

(52)

CHEMISTRY

199, Hifza HC/ & & 2-fremger sg2-1-306

$ s sfufrn 8 feafefea

uftads afea gl 2 | | ge o
CHy CH,
l =
H--&‘ == CH;OH + HC! ——» H.-.q; - M. -/
: a4 :
L ;“- {':"_
(*h2-TERETEA Mg )T (=)= - wmi- 2 foargs o2
(1) Yinfreon wfiem

(2) Ta=g & yfem
(3) =g umm
(4)  WE0 ol F 1 gt e

CH,




